35

M D M D'M 3-JAW AIR CHUCKS FIXTURE(SINGLE PISTON)

PR O A S B
= T\ [ P B
(BE5EEE)

P TN BIEH B SR B AR AR AT B -
1.HUEHEIESET » Z28E8(EF ~ ENEZER -
2. OIS BN - ZHHERILIEY - BEEEEFRK °

3JAEIRGHEEIE - BRSIITIRIEFRRK -
4.5CEEBHEEERET - IRFIRB(EASmREE -

™

Air Chuck Fixture Special Features:

1.Front-lock design, easy installation & save a space.
2.Available on multi-plate for mass production.

3.Rust-proof for pneumatic cylinder.

4.Dusts-proof & water-proof design to maintain its accuracy and
lead to longer service life.

R < B > Dimensions

oA

MD-06-M,08-M %!

BB SEED

SEEL]IZRE
(=)

Pneumatic switching valve (1 to 2)

FUBLDIRR (—%—)
Pneumatic switching
valve(1 to 1)

=i il

Modular parallel

P T\ B sH B
=MK[EEIRER
(BB553)

P\ Bl B R BR AR AR A5 e -

1. BUEHAUERET » LafER ~ EiEZER -

2. OifEEDe AR - ZHHERETES]

3 REIRGHERRIE - B S IITIRIEFRK °
IR RER(E SR RABE ©
5. EEEETIBANBIRI RS D - BESELIIHIIL -

4 5EEEBGEEERS

R < B > Dimensions

M F R M F R'M 3-JAW AIR CHUCKS FIXTURE(DOUBLE PISTON)

T

 RSBERK -

Air Chuck Fixture Special Features:

1.Front-lock design, easy installation & save a space.

2.Available on multi-plate for mass production.

3.Rust-proof for pneumatic cylinder. 4.Dusts-proof & water-proof
design to maintain its accuracy and lead to longer service life.

5.Twin-pistons to increase the clamping force for heavy-duty cutting.

ol

oB

SRELDIBRE
(=)

Pneumatic switching valve (1 to 2)

MFR-04-M %

SFHIEFE S EES

RBLDIAR (—%—)
Pneumatic switching
valve(1 to 1)

=rE gl

Modular parallel

*2 #% F& > Specifications B N/UNIT:mm
BT/ A8
MODEL A B C D E F G H | J K R R1 R2 R3

/ SPEC.

MD-04 125 78.5 40 11.5 105.2 26.7 14 49.5 10 23 - -- - - -

MD-06 172 90 40 11.5 130.4 40.4 20 73 12 31 -- -- -- -- --

MD-08 210 108.5 40 14 150.9 42.4 25 95 14 35 - -- - - -
MD-04-M 167 125 15 82 108.7 26.7 14 49.5 10 23 13 47 - - -
MD-06-M 224 172 15 93.5 133.9 40.4 20 73 12 31 18 47 8.5° 6.5° 23.5°
MD-08-M 265 210 20 114.5 156.9 42.4 25 95 14 35 18 47 9.5° 5.5° 24.5°
BT RS
MODEL L M N P Q

/ SPEC.

MD-04 3-M8x1.25P(PCDg110) - - - -

MD-06 6-M10x1.5P(PCDg155) - - 3-M8x1.25P(PCD@110) 3-M8x1.25P(PCDo148)

MD-08 6-M12x1.75P(PCDo185) - - 3-M10x1.5P(PCDo136) 3-M10x1.5P(PCDo186)
MD-04-M 29(PCDo145) 2-PT1/8" M8x1.25P(PCDo145) - 64
MD-06-M 211(PCD@202) 2-PT1/4" M10x1.5P(PCD@202) 3-M8x1.25P(PCDg110) 80
MD-08-M 211(PCD@243) 2-PT1/4" M10x1.5P(PCD0243) 3-M10x1.5P(PCDo136) 80

TC[EE AR
B /IR EEEE (T T2 (M) TERE o, AT

MODEL U Piston Area  Plunger Stroke  Jaw Stroke(Diameter) Gripping r'pp';?( f?rcez 0 ﬂl&lpressure
/ SPEC. (om?) (mm) (mm) Range ghiem* (0. 7MPa)

gt  (kN)

MD-04 -- 67 10 3.5 016~0125 1800 (17.6)

MD-06 -- 136 12 4.2 024~0172 3700 (36.2)

MD-08 -- 191 18 6.3 ©25~2210 5150 (50.5)
MD-04-M -- 67 10 3.5 016~0125 1800 (17.4)
MD-06-M 3-M8x1.25P(PCDg@148) 136 12 4.2 024~0172 3700 (36.2)
MD-08-M 3-M10x1.5P(PCDg186) 191 18 6.3 025~2210 5150 (50.5)

*% % F& > Specifications B {/UNIT:mm
BT RS

MODEL A B C D E F G H | J K R R1 R2 R3

/ SPEC.

MFR-04 125 105 40 115 131.7 26.7 14 49.5 10 23 -- -- - - -

MFR-06 172 118 40 11.5 158.4 40.4 20 73 12 31 -- -- -- -- --

MFR-08 210 145 40 14 187.4 42.4 25 95 14 35 -- -- - - -
MFR-04-M 167 125 15 108.5 135.2 26.7 14 49.5 10 23 13 47 - - -
MFR-06-M 224 172 15 121.5 161.9 40.4 20 73 12 31 18 47 8.5° 6.5° 23.5°
MFR-08-M 265 210 20 151 193.4 42.4 25 95 14 35 18 47 9.5° 5.5° 24.5°
BT /RS

MODEL L M N P Q

/ SPEC.

MFR-04 3-M8x1.25P(PCDo110) - - - -

MFR-06 6-M10x1.5P(PCDo155) - - 3-M8x1.25P(PCD@110) 3-M8x1.25P(PCDo148)
MFR-08 6-M12x1.5P(PCDgo185) - - 3-M10x1.5P(PCDg136) 3-M10x1.5P(PCDgo186)
MFR-04-M 29(PCDo145) 2-PT1/8" M8x1.25P(PCDo145) - 64
MFR-06-M 011(PCD@202) 2-PT1/4" M10x1.5P(PCD2202) 3-M8x1.25P(PCDo110) 80
MFR-08-M 011(PCD@243) 2-PT1/4" M10x1.5P(PCDo243) 3-M10x1.5P(PCDo136) 80
B /1R EEE (TR MR (BE TERE o, AT

MODEL U Piston Area  Plunger Stroke  Jaw Stroke(Diameter) Gripping r'pp';?( f?rcez 0 ﬂl&lpressure

/ SPEC. (om?) (mm) (mm) Range ghiem* (0. 74P)

gt  (kN)

MFR-04 -- 133 9 3.8 016~0125 2980 (29.2)
MFR-06 -- 270 10 5.3 024~0172 5280 (51.7)
MFR-08 -- 380 16 7.4 025~2210 7800 (76.4)
MFR-04-M -- 133 9 3.8 016~0125 2980 (29.2)
MFR-06-M  3-M8x1.25P(PCDg@148) 270 10 5.3 024~0172 5280 (51.7)
MFR-08-M  3-M10x1.5P(PCDo186) 380 16 7.4 225~0210 7800 (76.4)

36



\ 1IN
HBIS R [ERIZER

1. A BSLRABEEHEBREE : MFERFERe83L - &
BENEEFZRGNVERENNL - BEfEEEEsEBEEE
» OIEEE BB EIELT ©

2 g TUSHEL - AT ERIRBREFGERET - ERIFEN R 2RFFRY
BENE -

3 AEMUEEEN : sRBENIREE TTEEEBIFEIFDIRES
BEIHENMREE -

4 BEEERFRES LIFRER  REIHNRHERERE

SUPER PRECISION AIR CHUCKS

ISEERRW 2E T2y ol NS

1. A BSLRTEBEHEBEEE : MARFERe83L - 8
BENEEFZGNVERENNL - BEfEEEEsEREE
» OIEEEE)EEREET -

2. R TVAEL ¢ SSELEAIRERIEFGERET - WERIFEIRIREFHY
BENME -

BAETUEEENL : sRBENMIRELETIEEEBITERIGNIRET
BEHENMBEE -

4 BESEERFRES LIFRER  RETHNRHEREE
REFHBE OEUR - BHERIE - BIRSVERIVEREIL -

MTK MTK'T SUPER PRECISION AIR CHUCK FIXTURES

REHBE OHELTR - BERIE - BIRSVERIVEREIL -

1.Pre-machined tapped holes and lubrication path:
There are tapped holes for fixing jigs, thus, additional screw machining
is not necessary, and pre-machined lubrication path can connect to
auto-lubrication unit to lubricate the chuck automatically.
2.Built-in Cylinder:

1.Pre-machined tapped holes and lubrication path:
There are tapped holes for fixing jigs, thus, additional screw machining
is not necessary, and pre-machined lubrication path can connect to
auto-lubrication unit to lubricate the chuck automatically.

2.Built-in Cylinder: Connect cylinder directly to the chuck for stabl gripping.

R Y B > Dimensions R - B > Dimensions

3.Precise soft jaw positioning:
It's easy to remount soft jaw to

PT1/8

Connect cylinder directly to the chuck for stable
gripping.

b 05 the correct position with dowel (oﬁf\q | (HSFALIOI Mist Inlet) 3.Precise soft jaw positioning:
] — i i B 15 5 e 2Pt It's easy to remount soft jaw to the correct position
= f( pins on it. » . \ /RS 2-PT-1/4 (&3LAIr Supply S CERY IO [ el P
f < 4.High gripping precision brings ] & (ER3LAIr Supply Port For Grip with dowel pins on it.
L | better quality and efficiency: T Port For Grip dlnaii) 4.High gripping precision brings better quality and
ol o N / Ungrip)
P IS Good coaxiality and % efficiency.
o < 'g repeatability of gripping are I ; Good coaxiality and repeatability of gripping are
- Jgtﬁg able to achieve the accuracy ST :éatf fm'sg able to achieve the accuracy of "u degree"
i g; of "u degree" machining © :%% machining processes can be simplified or shortened
i1-8 processes can be simplified or ol BE 1o to make high precision machining with high
H L o
1B gmg shortened to make high L 55:1.’ efficiency come true.
| Eg precision machining with high = 4 EZ
LL« efficiency come true.
MTK # MTK-T 24
= o JE 2o A = o JE oo f
ARESHBETE UK AESHBSETEUR

This product reaches the repeatability of "u degree" This product reaches the repeatability of "u degree"

F& FA &6 {51l > Operation Example
REBUIRMERETST / 1SFRMHE

Examples of Attaching Pneumatic Manual Switch / Optional Accessories

& FB &B {51l > Operation Example

NiER BB LI
Split type hand control valve

R £% 38 > Specifications BEiI/UNIT:mm #82 #% 38 > Specifications EEiI/UNIT:mm

B RS d AU

BT 3RS
'}"gFPEECL A B c D E D1 H7) D2 H h w M1 MODEL A B c D d E F H w L
- / SPEC. (H7)

TK-04 20.75 127 127 1016 30 82.55 18 25 703 32 16 6-M5x0.8P(PCD@88.9)

TK-06 39.75 127 127 1524 40 124.97 26 34.5 703 3.2 22 6-M6x1P(PCD2135.89) MTK-04 148 17 20.75 101.6 18 12.7 12.7 80 16 13
TK-08 65.75 25.4 -- 203.2 45 167.64 50 50 99.5 7.0 25 6-M10x1.5P(PCDg182.88) MTK-06 200 18 39.75 152.4 26 12.7 12.7 81 22 18
TK-04T 20.75 127 127 1016 30 82.55 18 25 703 3.2 16 6-M5x0.8P(PCD@88.9) MTK-04T 148 17 20.75 1016 18 12.7 127 80 16 13
TK-06T 39.75 12.7 12.7 152.4 40 124.97 26 34.5 70.3 3.2 22 6-M6x1P(PCDg@135.89) i 200 18 39'75 152'4 6 12'7 12'7 o1 oo 18
TK-08T 65.75 25.4 - 2032 45 167.64 50 50 995 7.0 25 6-M10x1.5P(PCDo182.88) g : : : :

RIS /IR BT /53
MODEL M2 M3 T T2 T3 R1 Mig){JEﬁ% M M1 M2 M3 N T1
/ SPEC. / SPEC.

TK-04 6-M5x0.8P 9-03.18 3-M5x0.8P(PCD@88.9) - - 30°

TK-06  12-M5x0.8P 9-03.18 3-M6x1P(PCDo135.89) 3-M6x1P(PCDo110) 3-M6x1P(PCDo135.89) 30° MTK-04 29(PCD2130) 6-M5x0.8P(PCD288.9) 6-M5x0.8P  9-¢3.18  3-M8x1.25P  3-M5x0.8P(PCDo88.9)
TK-08 6-M10x1.5P 6-06.36 3-M8x1.25P(PCDo182.88) 3-M8x1.25P(PCDg@150) 3-M8x1.25P(PCDg100) 30° MTK-06 211(PCDg180) 6-M6x1P(PCD@135.89) 12-M5x0.8P 9-03.18 4-M10x1.5P 3-Méx1P(PCDg135.89)
TK-04T 4-M5x0.8P 6-03.18 2-M5x0.8P(PCD@70) - - - MTK-04T 29(PCDg130) 6-M5x0.8P(PCD288.9) 4-M5x0.8P 6-03.18 3-M8x1.25P 2-M5x0.8P(PCDo70)
TK-06T 8-M5x0.8P 6-03.18 2-Méx1P(PCDo110) - - - MTK-06T 211(PCDo180) 6-M6x1P(PCDo135.89) 8-M5x0.8P 6-03.18 4-M10x1.5P 2-M6x1P(PCDo110)
TK-08T 4-M10x1.5P 4-06.36 2-M8x1.25P(PCD@150) - - -

A /ARAE M7 (BE) ZEERACHF /] Gripping Force =S PSS PE RIS /AR MTUTRR(BX) ToEAIE @
MODEL R2 R3 Jaw Stroke At Air Pressure 7kgf/cm?(0.7MPa) Max.Speed Weight IVIIODELD T2 T Jaw Stroke Gripping Force V\/Iii ht
/ SPEC. [Diameter] (mm) kgf (kN) r.p.m(min") (kg) / SPEC. (Diameter) At Air Pressure 7 kgf/cm? (0.7MPa) (kgg)

kgf kN
TK-04 - - 3 800 (7.8) 4500 44 (mm) 9 (kN)
TK-06 30° 75° 3 1200 (11.7) 4200 9.8 MTK-04 . . 3 800 (7.8) 6.2
TK-08 30° 30° 3 1800 (17.6) 2500 26.3 : : )
e - - 3 800 78 3200 e MTK-06 3-M6x1P(PCD 2110) 3-M6x1P(PCD 135.89) 3 1200 (11.7) 13
TK-06T - - 3 1200 (11.7) 3500 9.5 MTK-04T - - 3 800 (7.8) 6
TK-08T - - 3 1800 (17.6) 2000 251 MTK-06T - - 3 1200 (11.7) 12.6

37



KRB OES 3%

R Y BE > Dimensions

4
T D, AIR FEED TUBE

& & (10mmEB{iI) Tube Length (Unit: 10mm) 18

240

g e

(36.5)

; 4 BIg0:£E 500mm FHESE 50 °
TR U Ex. Fill in 50

for required length of 500mm.

#2 1% F& > Specifications EE{iI/UNIT:mm
BT /HRAS HEEEH RERSERES
MODEL / SPEC. Recommended Lubricant Max. Pressure
TB-XX-18 VG6EZ#RH VG6 or Equal 8.2 kgf/cm? (0.8MPa)
——l =N —— = ——
R B DR 2E = ——
N ’ FFI
(GEIKEY)
|| ZE G2 18
rotec %‘Oﬁ(wmmﬁﬁjﬂube Length(Unit:10mm)
1 Tri=i's
R T E > Dimensions [ 7 ! BUg0:FE 500mm BHESE 50 °
58"-32 UNE Ex. Fill in 50
for required length of 500mm.
#82 #% 38 > Specifications EEfiI/UNIT:mm
BTV /3818 = ESES _ SEBRSEREN NS ESERES
MODEL / SPEC. Max.Speed Recommended Lubricant Max. Pressure Coolant connection Max. Pressure
TBW-XX-18 8000min-' VGBEEARH VG6 or Equal 8.2 kgf/cm* (0.8MPa) 8.2 kgflcm®  (0.8MPa)

MTB AIR FEED TUBE

SR OES 3%

R Y BE > Dimensions

2-P4 ORUR 03. 2RI,
2-P4 O-Ring 3.2
Location Hole

BEfUI/UNIT:mm

T B' H A HYDRAULIC FEED TU

FHEX B R S
(SEFNEE)

R Y BE > Dimensions

(BUILT-IN SENSOR)

BEfiI/UNIT:mm

29.9 o
e 161616 38 20 36
PT1/4"H19
P4P3P2P1
Hoy—
i isiocicctce B EL"’ >
8 — L8 -
ELTJ u% S% 18] )
T n|
PT1/4"-19 — ()
77 10x1.5P ]
PCD 0110 30
SHEEREET] EREES] PE
Hydr. Pressure Air connection Max. Pressure Weight
kgf /em? (MPa) kgflcm? (MPa) (kg)
45 (4.4) 8.2 (0.8) 5.6

A D P MOUNTING PLATES

SEAGER

R Y B > Dimensions

ADP-04,06,08 ADP-104,106

H
H2_H1l
h2

h1

a o
Q
5/8"-32UNF 5/8"-32UNF
#52 #& & > Specifications EE{I/UNIT:mm
A=t
IM%Q‘Eﬁg D DI D2 di P! H Hi H2 h1 h2 M1 M2 M3
/ SPEC. (h7) (H7)

ADP-04 101.6 8255 24 8255 25 38 14 24 32 25 6-M5x0.8P (PCD 088.9)  12-M5x0.8P (PCD 088.9)  3-03 (PCD 088.9)
ADP-06 152.4 124.97 24 124.97 345 38 14 24 3.2 2.5 6-M6x1P (PCD 0135.89)  12-M6x1P (PCD 0135.89) 3-03 (PCD 0135.89)
ADP-08 203.2 167.64 30 167.64 50 54 25 29 7.0 5.0 6-M10x1.5P (PCD ©182.88) 6-M10x1.5P (PCD 0182.88) 3-04 (PCD 0182.88)
ADP-104 101.6 82.55 24 8255 25 48 24 24 32 25 6-M5x0.8P (PCD 088.9)  12-M5x0.8P (PCD 988.9)  3-03 (PCD 088.9)
ADP-106 152.4 124.97 24 124.97 345 48 24 24 32 25 6-M6x1P (PCD 0135.89)  12-M6x1P (PCD 0135.89) 3-03 (PCD 0135.89)

FORMING RINGS ( FOR SOFT JAWS OF SUPER PRECISION AIR CHUCKS )
BRI A EIES

R Y B > Dimensions

[Tl

253
#52 #8& € > Specifications EE{T/UNIT:mm
BT /RS EE
e A B C D E F G H [ J K L Weight (Kg)
FR-04 112 80 22 30 6 21 12.7 12.7 12.7 6-M5x0.8P 9-03.175 3-M8x1.25P 1.9
FR-06 167 130 30 30 6 40 12.7 12.7 12.7 12-M5x0.8P 9-03.175 3-M10x1.5P 4.3
FR-08 203 160 54 35 6 66 25.4 25.4 -- 6-M10x1.5P 6-06.35 3-M10x1.5P 7.2
BB IZEEE M et P
= 22N S | 1
- e il
o IH -~ et
£ i) e
‘ pm— .“\\___._,.:-'—
R Y B » Dimensions
EEi/UNIT:mm 2-C1 .g% .
8.25 ° i
2-C17] 30° Nf *@@*ﬁ =
E e voss S &— 2-FE893, g17x40L
gf’?fﬁ;bﬂgﬂgl_%*J 4-1£813], 99.5x23L i o _ 4Cl 127254
= = 6.35 12.7 T 5 acii27 127 w5 ®s ]
wiwg 4ct” T 5 s 08 Se el | L
os geEm T wos £ok 0 T &2 Bge,
83 Qwinio— iy ¥ 2 o2yt B = "ldel2sd s
S7g ' 186 L |20 e 8 'essl| || a0 6.125.
@ :" 12.712.7 ~ 12.7 12.7 2- 183, 66.37x6L
3-#83L #3.2x5L 3-453], 03.2x5L S A[
@ =3 Y
Q| of aees- ﬁ oD - Yg o
. 53 7 100

40



RTS RTS'T ROTARY AIR CHUCK FIXTURE (LOW TORQUE) (BUILT-IN CHECK VALVE)
(CONTINUOUS ROTATING)

RT ROTARY AIR CHUCK FIXTURES (INTERMITTENT OPERATION)
D57 [ER T S

BERITEE

EEEDEIN &R
EENREREEAR D ER - 2ok
D ERREHIRIEINEE - EN/IZRIFNITH
ERED SIS IeEFLIHE]

B85 55 [ PE A
{EiRE OEREs

1.IRSIER : MeViEREES U EEEEEEIVER -

2. BTV ECE - PR REERET - 2RHFRRR
AEFEEKEERSRE] » WERIERHETF
HBRDEH -

3.BHEEHPNERFSHE T ARG LE TFOPsEE & IS e

1 IRENCO ERRRESUTEENEEFA » ERFERHIEEN - AZREEAER » #MEFARTEIEEE(E -
2 RELRSHEEIE : EHER TIERIERENERT - RELRZEPEE 4 BTEBIN SIS + Sl BRARE SRSt - RS
I8 , 7ﬁ-§$§;§§2—|5§5 ° - BVISEIE - BISESHEIERIRE - _ _ . . ,
3. EIBEDRI : [/AIEEREREIEEEET » IEEARIFEEME - BEHER Suitable for light cutting 5. SELRHSEETE : (EERE TIESISmENER » & 1.Higher Rotation Speed: Higher rotation speed to fit
HESE T IRIE o It's Ideal for dividing or cutting work pieces by PO SR R with more kind of working.
mounting the chuck on indexing table or rotary ERHERD I A= ’ 2.Built in Check Valve:
table. The distinctive feature is that chuck RELEFHRIE ©

Design with built in Check Valve.lt's doesn't need
to supply the air continuously and remain low
working torque also reduce the air consumption.

rotates with the spindle of indexing table or
rotary table.

R I & > Dimensions Vel clavie.s s aEeitelesl e lu il s R T & > Dimensions 3.Dustproof and drainage patent structure can
'l;m'ted ro:ary szed ;"”t: rotary table. prevent the metal chips and coolant get into chuck
2.Rustproof treated cylinder: inside while processing, and maintain.
ﬁMSXLfSPlL—Pw‘ T The.cylind?r won't get. rusty a.nd seized even in wet MBX1/'25P s T 4.Integral pneumatic cylinder: Connect chuck and
— or high moisture ‘.’V°rk'.n9 environment. g built-in cylinder to each other directly; thus enables
| 3.Integral pneumatic cyllpdgr: ; Nl operation stability. Moreover,it is more convenient
Szl s el sl el e ee i e ] for installation and operation since the use of draw
RICEEE directly; thus enables operation stability. —SH-TH =5 83 tube and draw bar are no longer necessary.
Moreoyer, iF is more convenient for installation and :ﬂ —> 5.Rustproof treated cylinder: The cylinder won't get
[E operation since the use of draw tube and draw bar 22 e rusty and seized even wet or high moisture working
" are no longer necessary. o || S A——
< pri/antg G | prignre
RTS-T # RTS #
#82 #% 38 > Specifications BEfi/UNIT:mm {E F3 &8 151l > Operation Example #5218 32 > Specifications EEfiI/UNIT:mm {sE F3 &8 {51l > Operation Example
B30 /4888 - BT 3818
MODEL A B C D E F G H J K - MODEL A B C D E F G H | J K
/ SPEC. / SPEC.
| RTS-05 140 85 16 60 6 182 33.6 62 14 10 25
y i
AL 140 8 16 60 6 182 336 62 14 10 25 ) RTS-06 170 93 20 80 7 215 404 73 20 12 31
RT-06 170 93 20 80 . 215 404 - 20 12 a1 RTS-08 215 112 30 110 8 255 42.4 95 25 14 35
) ' RTS-10 255 120 43 140 8 300 46.4 110 30 16 40
RTS-05T 14 1 182 . 2 14 1 2
RT-08 215 112 30 110 8 255 42.4 95 25 14 35 5400 0 85 6 60 6 8 33.6 6 0 &
RTS-06T 170 93 20 80 7 215 40.4 73 20 12 31
- BILER - BB N =
BT /iR £ BT /R SEEEE
N N (0] (0] Thru-Hole N N (0] (0] Thru-Hole ! -
'>/I§)|PEECL L M max. min. max. min. P Q (Diameter) '>/I§)|PEECL L M max. min. max. min. P R (Diameter) Piston 2Area
: (mm) : (mm) (cm®)
RT-0 6-MBX1.25P PCDo118 26.93 2462 2005 655 o6 3-M8x1 25P(PCDE92 6 RTS-05 6-M8x1.25P PCDo118 26.93 24.62 20.05 6.55 18.5 6-M6x1P(PCD@92) 16 74
05 -Mexi.25 @ : : : : - "M8x1.25P(PCD092) RTS-06 6-M8x1.25P  PCDo147  36.46 33.69 2155 1555 185  6-M8x1.25P(PCD@120) 20 120
RTS-08 6-M10x1.5P PCDo185 44.92 41.52 29.55 17.55 19.5 6-M10x1.5P(PCDg@155 30 190
RT-06 6-M8x1.25P PCDo147 36.46 3369 2155 1555 26 - 3-M10x1.5P(PCDo130) 20 X o x1.5P( )
RTS-10 6-M10x1.5P PCDg@220 53.63 49.59 36.55 17.05 21.5 6-M12x1.75P(PCDg@190) 43 280
RT-08  6-M10x1.5P PCDo185 44.92 4152 2955 1755 27 3-M10x1.5P(PCD@186) 3-M10x1.5P(PCDo146) 30 RTS-05T  6-M8x1.25P  PCDol18  26.93 2462 2005 655 185  2-Méx1P(PCDo92) 16 4
RTS-06T 6-M8x1.25P PCDg147 36.46 33.69 21.55 15.55 18.5 2-M8x1.25P(PCDg115) 20 120
= : = =32 MITIE(BIE) =g BRARTEEN REBEREFN - =t e MITR(BIE) =g [EEE REREF g um
“WODEL  Pion Atea Plunger Spoke  JaWStioke  ZFESR, Max Pressure Grioping Force Grpoing “WODEL  Pungerapoke  JawSioke (\ZEEES,  Pressure . Gripping Force Gipping Weign
/SPEC (cm?) ?mm ) ( Diameter ) ro.m (rEr)1in") kgflem?  (MPa) At Air Pressure 7kgf/cm? (0.7MPa) R:Er? eg /SPEC %mm ) ( Diameter ) ro.m (rFT)ﬂn") Setting Range At Air Pressure 7kgf/cm? (0.7MPa) Rgr? eg ( kg)
g (mm) -p-m. kgf (kN) 9 : (mm) -p-m. kgflcm?  (MPa) kgf (kN) 9 9
e 4 10 45 51 . 0.7 1340 131 doia RTS-05 10 4.6 450 2-7 (0.2-0.7) 1340 (13.1) 04-0136 10
: : 0.7) (13.1) 04-0140 RTS-06 13 55 350 27 (0.2-0.7) 2330 (22.8) 025-0166  16.8
RTS-08 16 6.8 300 2-7 (0.2-0.7) 3730 (36.5) 033-0215 30.6
RT-06 120 13 55 41 7 (0.7) 2330 (22.8) 225-0170
RTS-10 19 8.0 250 27 (0.2:0.7) 5480 (53.7) 043-0255  45.1
RT-08 190 16 6.8 33 7 0.7) 3730 (36.5) 033-0215 RTS-05T 10 4.6 450 2-7 (0.2-0.7) 1340 (18.1) 04-0136 9.7
RTS-06T 13 5.5 350 2-7 (0.2-0.7) 2330 (22.8) 025-0166 16.3

41 42



43

PR Bl BB Eh K10\ 7 B2 SR

B ENRINREBRIEFEHPIWER SN TESEIVIITMEEST - EX,Y
PSR R PR FHEM = THRIREEE T HRINZIIEE - A3XISE -

1 RELFHIFEEIE « EHER T ERIBIRENIBER - [ELASMHEPHEEIE -
AEBEHHFIE °

2 PIEERE - EIIFE LRSI TAF » tIBRITENENZEAREASS -
TERZRERHVE R S REE -

3.ZEMHF ~ HEDIL - BRILSFEHHEYE —#HDRET - MEHE BRIV KEE
REEDBIFEX, Y MEHE D IS AAEZRIFEE - ERFEEI RN - 88
PRERAEFERIEE T » EE—HRStEIIREERIFEERVRER -

R~ B > Dimensions

MA ACTUATING AXES SELF-CENTERING SOLID AIR CHUCK FIXTURES

2 actuating axes self-centering solid air chuck
fixtures is great for machining center. Two
pairs of jaws clamp one after another to
assure a workpiece to be locked completely.

1.Rust-proof for Pneumatic Cylinder:

MR 3-JAW AIR CHUCKS
=/Ms&EE2z88

R~ B > Dimensions

Inside wall of cylinder being rustproof treated; 5 5
cylinder can work under wet or high moisture S0 \ 30
circumstances without rusty or seized trouble. NS e i ] hﬂ’{ﬂ?{ ol ol <
2.Dusts-proof and Waterproof: N 4S8 e
-5 Dust-proof and Waterproof structure prevents 30° ! 300 L j \
work-chips and coolant water from entering into o |. ‘5' :
inside of chuck cylinder to maintain its accuracy and - . _51 = \L
lead to longer service life. ~ M I ——TH
3.4-jaw Clamping and Self-centering: ‘ J ‘ E
D[ 4-jaw clamping are steadier for machining. Two pairs
of jaws are moved independently to assure complete K € E o
lock and self-centering.
VB
& FH 2% 151 » Operation Example ; ‘|= 4 ‘|' 45 [ 82 {85 FH #3151 > Operation Example for rotary table CNCE= B {85 FH #8151 > Operation Example for CNC Lathe
IR © HEFE ~ EENE i L
Speed, Accurate, Automatic A-> a8 - e e J [ 1]
= 5 : o T
MEZ D BIZEHS » E3RECHIN j\-"ﬁ o " / j,- el
4-jaws clamping and self-center '\:,h_: e - ‘3..___1' -
i) _* =
GEZEATRHEF) Piston "A" Clamping (GEZEEBHEHF) Piston "B" Clamping I|
#7 #& 5= > Specifications EE{i/UNIT:mm — —— ‘
B3t /57 - !
IVIE(V){DEIT% A B D E F G H | J K L M M
/ SPEC.
MA-06 224 175 20 130 170 40 73 20 12 31 18 211(PCDg202)
MA-08 265 210 22 154 196 42 95 25 14 35 18 211(PCDg243)
MA-10 315 250 25 176 222 46 110 30 16 40 18 213(PCDg285) 45 48 5= > Specifications S AT/UNIT
3 ‘mm
BT /348 AEEETE Piston Area (cm?) Rt 481
MODEL o P Q I 7Rl “MODEL A B c D E F G H J L K M
/ SPEC. Push Side Pull Side / SPEC.
MA-06 M10x1.5P(PCD 2202) 4-M8x1.25P(PCD 0124) 4-M8x1.25P(PCD ©0156) 127 108
MA-08 M10x1.5P(PCD 0243) 4-M10x1.5P(PCD 0140) 4-M10x1.5P(PCD ©186) 184 157 o 117 60 o4 o5 - 845 267 495 14 10 5/8"-32UNF 23 3-M8x1.25P(PCDo104)
MA-10 M12x1.75P(PCD 0285) 4-M10x1.5P(PCD 0176) 4-M10x1.5P(PCD 0224) 270 239
: B SEEER Piston A ) HETE TR (E) RIS , ‘ . B ST _ o o .
iﬁ%/ggﬁ% AZER Piston rea (o) Plunger Jaw Stroke Gripping Force At Air Pressure FE SISEE BUTL /3RS SEEN HEITIE ﬂ;ﬁgbﬂe ZR[ERHFF/] Gripping Force = {=pElESES RFFEE
o #e AR Stroke (Diameter) 7kgf/cm? (0.7MPa) Weight Gripping MODEL Piston Area Plunger Stroke (Diameter) At Air Pressure 7 kgf/cm?(0.7MPa) Max.Speed Gripping
: Push Side Pull Side (mm) (mm) kgf (kN) (kg) Range / SPEC. (cm?) (mm) o kgf (kN) r.p.m (min") Range
MA-06 122 117 12 5.5 4500 (44) 24.8 025~0175
MA-08 176 169 16 7.4 6400 (63) 41.3 230~0210 MR-04 57 9 38 1100 (10.8) 3800 210~6117
MA-10 254 241 19 8.8 9500 (93) 65.6 035~0250

44



